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PROBABILITY AND STATISTICS, ECON 15A
APRIL 22, 2016
1.
Make an educated guess as to what the standard deviation is for the below graph.
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2.
Now make a guess as to what the IQR is.

3.
You have a very small population:  Amy, Ben, Clara, Donna, Ian, and Jamie.  They were asked how many movies they saw last month.  The data are:  1, 7, 5, 8, 1,.8.  Please calculate the standard deviation for the variable “number of movies seen.”
4.
Draw a box plot for the following data:  1, 15, 25, 30, 32, 34, 34, 37, 37, 37, 38, 39, 39, 40, 40, 41.  Draw it horizontally and use the entire page width (or else you will lose points).  You will lose five points for every error.  The x-axis has to have values on it.
5.
The standard deviation is the quadratic mean of what?  (Be as specific as possible.) 
6.
What is the variance multiplied by sample size?
7.
There is a distribution below.  Is it platykurtic or leptokurtic?




8.
Not considering possible extreme outliers, what is the standard deviation of the number of hours slept per night for adults?  If you feel the need to explain, please do so.
9.
When do we lose a degree of freedom?
10.
Let’s say that the correlation between hours studied and test score is 0.5 for men.  Let’s say that the correlation between hours studied and test score is 0.4 for women.  Let’s say that men study quite a bit more than women, but that women score quite a bit higher than men.  Is the correlation for between hours studied and test score most likely to be A)  less than 0.4,  B)  between 0.4 and 0.5,  

C)  greater than .5.  There is no need to explain.
11 – 12.
(Two questions – twenty points)
  A poll was taken in three states whether or not gambling should be legalized in Arizona.  In Arizona, 4 said no, 16 said yes, and 10 didn’t know.  In Nevada, 23 said no, 5 said yes, and 2 didn’t know.  In California, 3 said no, 9 said yes, and 28 didn’t know.  Please calculate Cramer’s V.  Show all your work.

13.
Let’s use the data from 11 – 12, but let’s now calculate lambda (using state to predict opinion).  Show all your work.
14.
Lambda and Cramer’s V both share a distinct disadvantage as measures of association for nominal data.  What is this disadvantage?
15.
What points in a scatter diagram indicate a covariance equal to zero?
16.
Write the formula for the fifth raw moment.
17 – 18.
(Two questions – Twenty points)
What is the correlation coefficient for the following data?  (Assume that the data comes from a sample.)  Show all your work.
X
Y

2
15
10
3

14
15

26
7

